June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	115	30.51	3.7693	115.0000	100.00	7	Cannon, Paul
2	115	31.70	3.6278	110.6830	96.25	10	Brownday, Mark
3	115	50.52	2.2763	69.4507	60.39	8	Boland, Paul

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C #	OMPETITOR Name
1	115	43.92	2.6184	115.0000	100.00	13	Spooner, Wayne
2	115	44.12	2.6065	114.4787	99.55	11	Rizzo, Franco
3	115	44.58	2.5796	113.2974	98.52	4	Donavon, Chris
4	115	101.01	1.1385	50.0030	43.48	5	Matthews, Roland

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	115	34.67	3.3170	115.0000	100.00	1	Davies, Martin
2	115	36.03	3.1918	110.6592	96.23	6	Davies, George
3	115	42.67	2.6951	93.4392	81.25	3	Meddins, Daryl
4	115	90.86	1.2657	43.8812	38.16	9	Evans, Dewi

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	115	35.29	3.2587	115.0000	100.00	12	Jiggens, Mark
2	115	42.63	2.6976	95.1994	82.78	2	Marechal, John

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	45	7.91	5.6890	45.0000	100.00	7	Cannon, Paul
2	45	13.53	3.3259	26.3082	58.46	8	Boland, Paul
3	45	16.84	2.6722	21.1372	46.97	10	Brownday, Mark

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	45	11.66	3.8593	45.0000	100.00	4	Donavon, Chris
2	45	12.53	3.5914	41.8755	93.06	5	Matthews, Roland
3	45	13.56	3.3186	38.6947	85.99	13	Spooner, Wayne
4	45	15.28	2.9450	34.3390	76.31	11	Rizzo, Franco

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	45	9.19	4.8966	45.0000	100.00	3	Meddins, Daryl
2	45	10.19	4.4161	40.5839	90.19	6	Davies, George
3	45	12.37	3.6378	33.4317	74.29	1	Davies, Martin
4	45	20.10	2.2388	20.5746	45.72	9	Evans, Dewi

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	OMPETITOR Name
1	45	10.71	4.2017	45.0000	100.00	Marechal, John
2	45	20.74	2.1697	23.2377	51.64	Jiggens, Mark

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	30	4.75	6.3158	30.0000	100.00	7	Cannon, Paul
2	30	6.32	4.7468	22.5475	75.16	8	Boland, Paul
3	30	6.93	4.3290	20.5628	68.54	10	Brownday, Mark

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C #	OMPETITOR Name
1	30	4.32	6.9444	30.0000	100.00	4	Donavon, Chris
2	30	5.41	5.5453	23.9556	79.85	13	Spooner, Wayne
3	30	9.83	3.0519	13.1841	43.95	5	Matthews, Roland
4	30	11.25	2.6667	11.5200	38.40	11	Rizzo, Franco

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	30	4.43	6.7720	30.0000	100.00	3	Meddins, Daryl
2	30	4.71	6.3694	28.2166	94.06	1	Davies, Martin
3	30	5.86	5.1195	22.6792	75.60	6	Davies, George
4	30	6.78	4.4248	19.6018	65.34	9	Evans, Dewi

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	30	5.32	5.6391	30.0000	100.00	12	Jiggens, Mark
2	30	6.54	4.5872	24.4037	81.35	2	Marechal, John

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	60	10.83	5.5402	60.0000	100.00	7	Cannon, Paul
2	60	17.79	3.3727	36.5261	60.88	10	Brownday, Mark
3	60	20.66	2.9042	31.4521	52.42	8	Boland, Paul

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	60	11.58	5.1813	60.0000	100.00	4	Donavon, Chris
2	60	13.70	4.3796	50.7153	84.53	11	Rizzo, Franco
3	60	14.14	4.2433	49.1372	81.90	13	Spooner, Wayne
4	60	21.01	2.8558	33.0700	55.12	5	Matthews, Roland

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	60	13.95	4.3011	60.0000	100.00	1	Davies, Martin
2	60	15.74	3.8119	53.1766	88.63	6	Davies, George
3	60	16.35	3.6697	51.1927	85.32	3	Meddins, Daryl
4	60	35.85	1.6736	23.3473	38.91	9	Evans, Dewi

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60	11.35	5.2863	60.0000	100.00	2	Marechal, John
2	60	12.34	4.8622	55.1864	91.98	12	Jiggens, Mark

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	45	7.85	5.7325	45.0000	100.00	7	Cannon, Paul
2	45	13.99	3.2166	25.2502	56.11	10	Brownday, Mark
3	45	31.08	1.4479	11.3658	25.26	8	Boland, Paul

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	45	10.24	4.3945	45.0000	100.00	11	Rizzo, Franco
2	45	10.97	4.1021	42.0055	93.35	13	Spooner, Wayne
3	45	13.70	3.2847	33.6350	74.74	4	Donavon, Chris
4	45	22.20	2.0270	20.7568	46.13	5	Matthews, Roland

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	45	9.65	4.6632	45.0000	100.00	1	Davies, Martin
2	45	10.41	4.3228	41.7147	92.70	3	Meddins, Daryl
3	45	13.22	3.4039	32.8480	73.00	6	Davies, George
4	45	36.72	1.2255	11.8260	26.28	9	Evans, Dewi

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	9.21	4.8860	45.0000	100.00		Jiggens, Mark
2	45	12.51	3.5971	33.1295	73.62	2	Marechal, John

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	85	21.30	3.9906	85.0000	100.00	7	Cannon, Paul
2	85	26.61	3.1943	68.0383	80.05	10	Brownday, Mark
3	85	38.24	2.2228	47.3457	55.70	8	Boland, Paul

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	85	34.96	2.4314	85.0000	100.00	4	Donavon, Chris
2	85	36.51	2.3281	81.3914	95.75	13	Spooner, Wayne
3	85	41.65	2.0408	71.3469	83.94	11	Rizzo, Franco
4	85	90.15	0.9429	32.9628	38.78	5	Matthews, Roland

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	85	25.60	3.3203	85.0000	100.00	1	Davies, Martin
2	85	27.40	3.1022	79.4161	93.43	3	Meddins, Daryl
3	85	36.49	2.3294	59.6328	70.16	6	Davies, George
4	85	79.68	1.0668	27.3092	32.13	9	Evans, Dewi

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	85	19.78	4.2973	85.0000	100.00	12	Jiggens, Mark
2	85	50.92	1.6693	33.0185	38.85	2	Marechal, John

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C (#	OMPETITOR Name
1	70	10.57	6.6225	70.0000	100.00	7	Cannon, Paul
2	70	16.24	4.3103	45.5603	65.09	10	Brownday, Mark
3	70	16.64	4.2067	44.4651	63.52	8	Boland, Paul

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	70	13.77	5.0835	70.0000	100.00	4	Donavon, Chris
2	70	18.53	3.7777	52.0184	74.31	13	Spooner, Wayne
3	70	24.14	2.8998	39.9296	57.04	11	Rizzo, Franco
4	70	27.18	2.5754	35.4636	50.66	5	Matthews, Roland

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	70	13.77	5.0835	70.0000	100.00	3	Meddins, Daryl
2	70	14.93	4.6885	64.5613	92.23	1	Davies, Martin
3	70	15.96	4.3860	60.3947	86.28	6	Davies, George
4	70	28.64	2.4441	33.6557	48.08	9	Evans, Dewi

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	70	13.02	5.3763	70.0000	100.00	2	Marechal, John
2	70	18.86	3.7116	48.3245	69.03	12	Jiggens, Mark

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	100	21.97	4.5517	100.0000	100.00	7	Cannon, Paul
2	100	38.10	2.6247	57.6640	57.66	8	Boland, Paul
3	100	52.05	1.9212	42.2094	42.21	10	Brownday, Mark

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	100	56.52	1.7693	100.0000	100.00	4	Donavon, Chris
2	100	56.76	1.7618	99.5772	99.58	11	Rizzo, Franco
3	100	76.92	1.3001	73.4789	73.48	13	Spooner, Wayne
4	100	144.01	0.6944	39.2473	39.25	5	Matthews, Roland

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	100	24.39	4.1000	100.0000	100.00	1	Davies, Martin
2	100	29.34	3.4083	83.1288	83.13	6	Davies, George
3	100	45.01	2.2217	54.1880	54.19	3	Meddins, Daryl
4	100	89.43	1.1182	27.2727	27.27	9	Evans, Dewi

June 2023

Printed June 6, 2023 at 11:19



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	100	24.67	4.0535	100.0000	100.00	12	Jiggens, Mark
2	100	43.65	2.2910	56.5178	56.52	2	Marechal, John